(000 00 00 00 0o

00 00 00 00 00000 COo000 0 0 0000 1 00
[0 0000 00 000 bo0oo 2 4o

3 0000 0O0 000 0o

4 00 0OO 00 00 0o

IPe8 500000

000 6 00 000

(00 000 0ooo 0 0o 0oo 0o0o

1 000, 00 0- 000 00 b0 0ooo 0o 0 0o 0oooo.
2 [0 000 0 000 0o, 0o,

3 [0 00 00, 00000 3~50 00 0 (000 0m

[0 4 0000 00

[0 0000

000 00 0d, 00, 0o, 0o, 00 00 04, 00 000, 0o, 00 0 00 04, 0oo 0 00 0. 0oo 0d. 00 00 0 0000t Cood, 0a
0 ao.

000 0000
00 000 00 000 000 000 00 000 00 00 00000, 000 000 24 00 000 000 00 000!

(00 00 0o 0o 0 00 0oo 000 0odd -



SZ0MNK




SZONK




SZOMK

Epitheca (1PCS)
Material:PC
Color Transparent

Grub Screw(BPCS)
Material:Stainless Steel
Standard:M4*25

Hypotheca (1PCS)
Material: ABS
Color:Light Grey(FS20412)

Screw Lid(BEPCS)
Material:ABS
Color:Light Grey(F$20412)

Gasket (1PCS)
Material:Rubber
Size:113*113*1.8 mm

Self-Tapping Screw{4PCS)
Material:lron
Standard:M4*30

Copper Nut{8PCS)
Material:Copper
Standard:M4*10

Color.Copper

Copper Nut{4PCS)
Material:M4*5
Color.Copper







